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The “standard of living” of any country means the average person’s
share of the goods and services which the country produces. A country’s
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standard of living, therefore, depends first and foremost on its capacity to
produce wealth. “Wealth” in this sense is not money, for we do not live on
money but on things that money can buy: “goods” such as food and
clothing, and “services” such as transport and entertainment.

ERXTX B

The standard of living in a country is determined by

A. its goods and services.

B. the type of wealth produced.

C. how well it can create wealth.

D. what an ordinary person can share.

IR e B IS 4] - iXAIH depend on X—4HiE, Wil
THA be determined by, BRAFXAFTRXAR, HEEL K, 5§
THEMCEHRKRRTE _MENERD . ®BHRCHEREE.

A/ R R ENMF, BERXRE TR
TS ERAEERE - Fla0 1999 4% B TEXT C HhA X —4) .

There must be few questions on which responsible opinions is so
utterly divided as on that of how much sleep we ought to have.

BEX 3 i R -

The author seems to indicate that

A. there are many controversial issues like the right amount of sleep.

B. among many issues the right amount of sleep is the least

controversial.

C. people are now moving towards solving many controversial

issues.

D. the right amount of sleep is a topic of much controversy among

doctors.

ZAER so..as. . X— LN, BEEY. WAH ARG
BRI 2 /D BRRRGX — (AR ARESH % IO LA A0 . 357 D &
MRRTZANEER. BEREER.
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Which of the following is NOT...?

All of the following are true EXCEPT...

Which of the following is INCORRECT?

B0 2002 FEH TEXTBFE—. = =B

The “standard of living” of any country means the average person’s
share of the goods and services which the country produces. A country’s
standard of living, therefore, depends first and foremost on its capacity to
produce wealth. “Wealth” in this sense is not money, for we do not live on
money but on things that money can buy: “goods” such as food and
clothing, and “services” such as transport and entertainment.

A country’s capacity to produce wealth depends upon many factors,
most of which have an effect on one another. Wealth depends to a great
extent upon a country’s natural resources, such as coal, gold, and other
minerals, water supply and so on. Some regions of the world are well
supplied with coal and minerals, and have a fertile soil and a favorable
climate; other regions possess none of them.

Next to natural resources comes the ability to turn them to use. Some
countries are perhaps well off in natural resources, but suffering for many
years from civil and external wars, and for this and other reason have
been unable to develop their resources. Sound and stable political
conditions, and freedom from foreign invasion, enable a country to
develop its natural resources peacefully and steadily, and to produce more
wealth than another country equally well served by nature but less well
ordered. Another important factor is the technical efficiency of a
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country’s people. Industrialized countries that have trained numerous
skilled workers and technicians are better placed to produce wealth than
countries whose workers are largely unskilled.

FIX X —ER S A2

A country’s capacity to produce wealth depends on all the factors
EXCEPT

A. people’s share of its goods.

B. political and social stability.

C. qualities of its workers.

D. use of natural resources.

XEL BRI AFMEENEERE, GERAXE L4
REEKE, EHRFREERUEMEREES, HE. KAE=. =
BATUANE. FIRB AR RENBIAHFEMT 2 U R BRIFWR
THRFAFE—TERKOEVERRES - EHA HIFREE.

=. 588

X AL E K B A R SR S B AT I S AR kY
HLER, SEEREENENNEE. BEaRE .

What does the passage mainly discuss?

Which is the main idea of...?

The purpose of the passage is to...

#1411 2002 45 TEXT B R/5 —E: -

At the same time, appearance is still important in certain
circumstances and then we must choose our clothes carefully. It would be
foolish to go to an interview for a job in a law firm wearing jeans and a
sweater; and it would be discourteous to visit some distingu ished scholar
looking as if we were going to the beach or a night club. However, you
need never feel depressed if you don’t like the latest fashion photo. Look
around you and you’ll see that no one else does either!

Ft X% B R -
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Which is the main idea of the last paragraph?

A. Care about appearance in formal situations.

B. Fashion in formal and informal situations.

C. Ignoring appearance in informal situations.

D. Ignoring appearance in all situations.

ZEE-RRXEA, —. ZHRXHEFEONHET . AHRE
He FEITEMBEERG S THFENE. %W A WEHEEX.

B2, HARFEXEMNRESTXAEWIOLEN . G R
HAREBIEE, XRBRIG CEBOANEMULESRIES, W
T8 th SC R AT IR E R L E AR

+ HERTRE

NXBEARFEITHLREN N EERKE, BREEREYT
R FRER, BRI IAN LTSO8 % R R s Bk
RARBNE -

BEOGRE .

The author seems to suggest that...

It is implied in the passage that...

From the last paragraph we can infer that...

B4 1999 EiR 30 TEXT A HHf 8 = 5 .

Little wonder the latest survey concludes that the extent and type of
hospital teaching available differ a great deal across the country. It is
found that half the hospitals in England which admit children have no
teachers. A further quarter have only a part-time teacher. The special
children’s hospitals in major cities do best; general hospitals in the
country and holiday areas are worse off.

EEXFIZ B (R

It can be inferred from the last survey that

A. hospital teaching across the country is similar.

B. each hospital has at least one part-time teacher.
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C. all hospitals surveyed offer education to children.

D. only one—fourth of the hospitals have full-time teachers.

WHEHWERNIE D. BRZEREEEFRNE S 2 —/E
BrE 2T, BAFARER (—EMERRERIT. 50
2 —WERFAFBEIT) LR R T RS 2 —ERE
B -

ENEE

PR MIRATE R P LB A, R A B
HIE B MUERE DUER HIERIEE - R AR A aRE .

We can conclude from the passage that. ..

In the first paragraph the author emphasizes. ..

We learn that...is mainly...

B30 2002 %8 TEXT C H HEE .

Today, society is much freer and easier than it used to be. It is no
longer necessary to dress like everyone else. Within reason, you can dress
as you like or do your hair the way you like instead of the way you should
because it is the fashion. The popularity of jeans and the “untidy” look
seems to be a reaction against increasingly expensive fashions of the top
fashion houses.

FIXHZ B A2 -

Present-day society is much freer and easier because it emphasizes

A. uniformity.

B. formality.

C. informality.

D. individuality.

FERLTARRBERSEH LS L2 UEE . H12
Be B ABREZELENEMABF. TUEHOERY
KM HRECERMER, RUBR R 1 35 FLBGE A M R 0 55 s
M —FRIL. FIAXSEFMLRSREEH ME. BT D HiE
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FEERA AN S EFEECHED. BYPIL. THF.
WRR? EMEE BEIN? E RN — 1 BB R EE
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What is the author’s attitude towards...?

What is the author’s opinion of...?

In the last paragraph, the writer thinks that. ..

4N 2002 £ 3 TEXT D 58 5B

So it came as a terrible shock, but not really as a surprise, to learn
that some people are now suggesting that soccer change from being a
game of two 45-minute halves, to one of four 25-minute quarters. The
idea is unashamedly to capture more advertising revenue, without giving
any thought for the integrity of a sport which relies for its essence on the
flowing nature of the action.

EER i B (AR -

What is the author’s attitude towards the suggestion to change soccer
into a game of four 25-minute quarters?

A. Favorable.

B. Unclear.

C. Reserved.

D. Ceritical.

{EH M terrible shock (11%) 1 unashamedly (FATEEHLHL) 3
HAE AEEERREY ALY, T 25 940 HAHXSBRR
FRECBRATES M . T D HIERER.



Unit One

SECTION A READING COMPREHENSION [25 MIN]
In this section there are four reading passages followed by

questions or unfinished statements, each with four suggested answers

marked A, B, C and D. Choose the one you think is the best answer.

TEXT A

Over the years, soap operas have been condemned as little more than
“chewing-gum for the eyes”, harmful, corrupting and distracting agents in
the daily lives of many thousands of people. Typically, soap viewers have
been equally condemned and stereotyped for their addiction to this so -
called mindiess form of entertainment. Early accounts of the radio-soap
listeners envisage groups of educationally backward, emotionally and
socially deprived women, all eagerly tuning in to their favourite serial.
The typical listener was thought to be a lower-class housewife, using
soaps as a form of escapism from mundane isolation in the home and an
indisputable source of advise on personal problems. However, the critical
stance on this issue has become more diverse over the last decade, with
an increase in academic research on the subject. Critics are no longer
looking to condemn, and are now seeking to explain what it is that makes
this genre so very appealing. It is clear that soap operas should not be
dismissed as shameful addiction, and should be regarded more
constructively as the essence of cultural articulation on all aspects of
living within a given society.
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Arguably, one should primarily consider the demands that soaps
make of their viewers. It is typically assumed that the average viewer is a
“fan”, whose relationship with their favourite programme is one of
intense emotional identity. An individual may not be wholly involved
with the programme in the emotional sense, but it is reasonable to assume
that the viewer does have some prior knowledge of the series before
sitting down to watch an episode. What becomes most pronounced is the
sheer “openness” of the soap opera text. It is “open” in that it offers
multiple levels of interpretation. Dorothy Hobson argues that viewers are
free to choose from the infinite variety of readings within a given soap
framework, and to be emotionally involved on different levels. Not only
does soap opera resist any textual closure, but it thrives on the interplay
between these multiple view-points.

The popularity of soaps does not appear to lie in any single, specific
aspect of the genre, but is rather explained by combining the multiple
reasons viewers have provided for watching their favourite programmes.
Soaps are unique in that watching them seems to have become a skilled
activity, that demands general knowledge of soap conventions, and the
ability to mobilise memory stores that constitute the history of a specific
scene. With regard to the notion of cultural competence, one scholar
believes that women are highly “competent” readers of soap opera text,
and that their skills improve with practice. The more one watches soaps,
the more reason one has to tune in on a daily basis.

1. In the past, soap operas were believed to be able to
A. improve the intellect of the viewers.
B. relieve loneliness.
C. contribute to women’s liberation.
D. address social problems.
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2. Today, the soap opera has been
A. greatly degraded.
B. grossly neglected.
C. more positively received.
D. over-praised.
3. If a soap opera resists textual closure, it most probably means
A. itis difficult to understand.
B. it fails to arouse emotional responses.
C. it has complex story lines.
D. it lends itself to different interpretations.
4. According to the passage, watching soap operas
A. presupposes certain knowledge.
B. is a political activity.
C. enhances one’s knowledge of history.
D. is not an intellectual activity.

Word List

mindless a. AHEZIWM
envisage v. FEZE

mundane a. FRN, tHiaR

TEXT B

It is a truism to state that architecture composes the immediate
physical environment of our lives. But here in America, we too often
forget that high-quality architecture means more than that, and European
architecture has demonstrated this repeatedly. Public-housing complexes
in the Netherlands, where thoughtful design and good construction are
the norm, consistently help to integrate marginalized groups (immigrants,



